5.2.1
€))

5-2-1 5-2-1
5-2-1
26 30
27
27
2018 30
29
25

25
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&)

30
5-2-2(1) (2)
26 30 0.016 0.019ppm 30
0.016ppm
30 98 0.036ppm
5-2-2(1) 26 30
ppm
26 27 28 29 30
0.019 0.019 0.017 0.018 0.016
5-2-2(2) 30
0.06ppm 98
0.06ppm
98
ppm ppm
0.016 0 0.0 0.036 0
2018 30
26 30
5-2-3
5-2-3 26 30
ppm
26 27 28 29 30
0.023 0.023 0.021 0.023 0.021
27
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30

5-2-4(1) (2)
26 30 0.021 0.024mg/ 3 30
0.021mg/ 3
30 0.20mg/ 3
0.10mg/ 3
0.047mg/ 3
5-2-4(1) 26 30
mg/ 3
26 27 28 29 30
0.024 0.022 0.021 0.022 0.021
5-2-4(2) 30
0.10mg/ 3
0.20mg/ 3 0.10mg/ 3
0.10mg/ 3
mg/ : mg/ 8 > [}
0.021 0 0.0 0 0.0 0.047 o 0
2018 30
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29 5-2-2
13.3
29 2.0 /

FLBT

4. 0—5. 9

FARR (m, s)

FHEE = 2, 0m/ s
F—H#¥= 8756

2.5 / 5.0 /

5-2-2 29

5-2-3
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€y
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98
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5-2-4
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<____________

98

5-2-4
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12

50

1.0 /

Q (z-H,Y (z+H,) 6
C(R,z)= P -l exp| ——=— |+exp ——=—||-10
R2) «/2m/8-u-R-chl: p( 20, P 20,

ppm mg/ 3
/s kg/s
/
o
0.5 0.9 /

o) e o i
g =R’ +f7‘2(z—He)2

rf =R? +O—(2(z+ H, )

Y

ppm mg/ 3

3 /s kg/s
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0.4 7/

% L . L 10°
C(Rz)_(2T[)3/2-\/{R2+(C(/\A2'(He_z)2 R2+(G/\»2'(He+2)2} 10

/s kg/s

10,000

—

10

A~G: R IWETEE

01 10 100 100.0
JB T EE R (km)

5-2-5 -7

12
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5-2-6

5-2-6
0.4 / 0.5 0.9 /
A \V4 (o \V4
0.948 1.569 0.748 1.569
0.859 0.862 0.659 0.862
0.781 0.474 0.581 0.474
0.702 0.314 0.502 0.314
0.635 0.208 0.435 0.208
0.542 0.153 0.342 0.153
0.470 0.113 0.270 0.113
0.439 0.067 0.239 0.067
0.439 0.048 0.239 0.048
0.439 0.029 0.239 0.029
12
i 1 16
(@ ¢
1 16
u/a 1 fo=—)> T,
16 &
3
1 u/a 1.5 f = fi_4+22fi+k+fi+4j/16
k=-3
2
1.5 uv/oa 2 f = fi_3+22fi+k+fi+3j/1z
k=-2
1
2 u/a 3.3 f = fi2+22fi+k+fi+2j/8
k=-1
3.3 u/o 6 f = (F, +2Ff +F, /4
6 u/a f.=F.
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/o 1.5 R u-He/N2y

fFo=lf LHe—RJ £ plyute
CcCi { a(\/_zy + Cl \/_Zy

Ti
fci fcci

116

i=1

C(R):z Z Z Cl(Di’Uj ’Sk)'fl(DisUj ’Sk)+z Cz(Sk)'fz(Sk)

i i kK k

) (ppm  mg/ %)
1C i i K i is K
(ppm mg/ ®)
1( i j k) is Js k
2( ©) k (ppm  mg/ ®)
2 ©) k
i j k /
26 30
=1.754 0.747 r=0.955
[ 1 ppb
[ 1 ppb
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26 30

[ 1 =1.4587 [ ] 0.0116
[ 1 =1.7705 [ ] 0.0101
[ 1
[ 1
[ 1
[ 1
22 15
24 24
365
10
5-2-7
5-2-8
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ppm

r=0.889
r=0.805

98 ppm

mg/

mg/ °®

152.0 348.0

%W/h
24



5-2-7

3 /h opm )
9.0 60 8 2
95.0 150 50 2
34.4 60 55 2
9.0 60 55 10
53.7 60 125 6
45.3 60 181 4
57.3 60 181 5
57.3 60 125 3
73.6 60 125 3
88.3 40 125 2
173.8 40 125 2
152.0 110 125 4
280.2 60 125 4
348.0 171 125 3
420.0 60 191.3 4
463.0 171 191.3 2
174.5 100 39.1 3
30.0 80 39.1 1
13.0 150 39.1 2
83.6 60 37.4 2
60.0 60 37.4 2

22 15
5-2-8
/
320 380 20 10
1,490 1,300 90 30
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0.0071kg/10% 3

28
30
295 70
10km/h 860
1,720 1,140 1,220

5-2-9

5-2-10

5-2-6
5-2-11

5-2-12
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5-2-9

NO.
SW/h SW/h) (kg/h) ¢ /h)
9.0 .0077 0.00006 129.0 100 8
95.0 .2043 0.00067 1,362.0 405 50
34.4 .0296 0.00024 493.2 230 55
9.0 .0077 0.00006 129.0 100 55
53.7 .0473 0.00041 788.4 110 125
45.3 .0389 0.00032 648.0 210 181
57.3 .0492 0.00041 820.8 230 181
57.3 .0492 0.00041 820.8 230 125
73.6 .0633 0.00052 1,054.8 210 125
88.3 .0413 0.00063 1,033.1 150 125
173.8 .0813 0.00123 2,033.5 150 125
152.0 .2298 0.00108 2,089.0 270 125
280.2 .1967 0.00199 3,278.0 150 125
10
348.0 .8352 0.00247 4,884.0 270 125
420.0 .3506 0.00298 5,843.6 150 191.3
11
463.0 .1638 0.00329 6,806.1 270 191.3
12
174.5 .3509 0.00124 3,509.0 177 39.1
14
15 30.0 .0165 0.00021 206.0 285 39.1
16 13.0 .0152 0.00009 101.4 120 39.1
17,
18 83.6 .0609 0.00059 1,015.2 80 37.4
19,
’0 60.0 .0437 0.00043 728.6 80 37.4

0.0071kg/10° @
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5-2-10

/ km
10kn/h 10km/h
0.016 0.034
4.038 0.076
28
5-2-11
i (%)
0 i 4 1+0.40i
60km/h 4 i 0 1+0.08i
0 i 4 140.52i
60km/h 4 i 0 1+0.15i
0 i 4 1+0.50i
60km/h 4 i 0 1+0.08i
0 i 4 140.25i
60km/h 4 i 0 1+0.11i
=+
24
25
5-2-12
169,248kg/ 442kg/
277kg/ 43kg/
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1.0 7/

CONCAWE
A
A 0.0855 v2 v
A
/
/
P A
(o} 1.293>=<10%/ 3
1.0056 /( )
3/
A 15
0.4 / 0.5 0.9 /
Briggs / CONCAWE
0.4 7/ 0.7 /
A
A 0.979 va e/ 8
e/ 0.003 0.010 /
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29 30 31
16 5-2-13
152.0 348.0 °*N/h 22
24 22 24
5-2-7
5-2-13
/
0.4 0.5 09 | 1.0 1.9|20 2.9|3.0 39|4.0 59|60 7.9 8.0
0.7 1.5 2.5 3.5 5.0 7.0 9.0
) Rhoddud, FEEMERL, EORT—)UE

N 2. sk, MR 5. O0m s FRT,

5m,

2. 3m/s
5471

T =

Z. 0m//
ne F—nf=

TR =
F—5%= 8756

29 30
5-2-7
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5-2-14

/
m/s
19 m/s
5-2-14
0.150 0.225 0.300 0.375 0.375 0.450
12
29 30 31
152.0 348.0 °3N/h 22 24
22 24 5-2-15
5-2-8
5-2-15
KW/ 2
0.60 T 0.30 T ( 10)
T 0.60 0.30 015 | 0-18 T (10 ( (
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30

29

5-2-8

30

0.021ppm

3

0.021mg/
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5-2-16

173

5-2-9
0.0013ppm
98 0.038ppm
5-2-16
(ppm) (ppm) 98
(ppm)
(ppm) (ppm)
= +
0.04
0.06ppm
0.0013 0.021 0.0223 | 0.0178 0.038 0.04ppm
30
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5-2-17
5-2-10

0.00038mg/ 3

0.048
mg/ ®
5-2-17
o/ %)
T
Mg/ ) e/
G+
0.00038 0.021 0.02138 0.048 0.10mg/ 3
1.
2. 30
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